Elemental Analysis 3-15

1. Asample o an organic compound with a mass of 1.634 g was completely burned in oxygen
and found © pmduu 396 g of carbon dioxide and 0. 98 Lg of water.

tai Calculate the empirical formula of the or ganic compound.
th) The molecular mass of the compound is 60. What is the molecular formula of the

compound?
2, When 2.173g of an organic compound is burned in oxygen 6.103g of carbon dioxide and
1.248g of water were formed.

Calculate the empirical formula of the compound.
3. Ferrocene is an organometallic compound which contain oaly the elements carbon,
hydrogen, and iron. When 1.672g of ferrocene was burned in oxygen, 3.962g of

carbon dioxide and 0.810g of water is formed.
Calculate the empirical formula of ferrocene.
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